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Math 251 Fall 2017 Quiz #1.5, September 6

Name:

There are 25 points possible on this quiz. This is a closed book quiz, but you are allowed to

use a calculator and a ruler. Please show all of your work! If you have any questions, please raise

your hand.

Exercise 1. (4 pts.)

1. The graph of the function f(x) is given be-

low. Draw on the same axes the function

g(x) = 2f(x).
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2. Graph h(x) = 2 + e

x�3
on the grid given

below. You must clearly label any asymp-

totes and explicitly label two points on

your sketch.
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Exercise 2. (3 pts.) Find a formula for the inverse of the function h(x) = ln(3x� 1).

Exercise 3. (6 pts.) Determine whether the following statements are true or false. Circle T or F.

a) (a+ b)2 = a

2 + 2ab+ b

2

T or F

b) (e4x)2 = e

16x2

T or F

c)

p
x

2 + y

2 = x+ y

T or F

d)

x

7

x

�2
= x

9

T or F

e) sin�1
x = 1

sinx

T or F

f) ln(ex) = 1 + lnx

T or F
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Switch xandy : 3y= e×+| answer :

×=1n(3y - D he'Cx)=tz(e×+l )

sowefory :
y=tz(e×H)

e×=3y -1
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just check
this with

x=y=l .
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Exercise 4. (3 pts.) Solve sinx = 1.

Exercise 5. (3 pts.) Find the domain of the function f(x) =
p
1�x

4�x

2 . Give your answer in interval

notation.

Exercise 6. (3 pts.) Expand the following logarithm: ln

✓
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p
5 + xp
1� x

2

◆

Exercise 7. (3 pts.) Find an equation of the line through the points (�3,�2) and (8, 1). State the

slope and the y-intercept.
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Ya ×=
... -3€ ,E , Ey,7E, "

.

÷H÷f*iW%" on

-3T 7 'T

I Z X = ZIKTLI for any integer K
.
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word : we need picture T=gqz ,

�1� 1- Xzo or @ -2

and

�2� 4- ×2¥o on

Answer : The domain of f(× )

avoid×=±TC
is to

,

-274-2,1
]

In

3.si#f=1n(s+xf3.ln(i-x2Y=jlnGtA-tzln(¥2)
Answer

-
1- x2=(txXHx )

=tzln(5+×) - Elna - x ) -

tzln(÷x y xy

m= '⇒=IEd-= # =÷@ slope*
y÷i=÷(×⇒

y.IE#eguationofiine&g0aIweeEYegY.rtIoefatry

y=÷x - 2,4+1
|b=Y3ty. intercept


